Exemplo pratico
Aluguel recebido
(-) Dependente
(-) Condominio

= Base de cdlculo
Aliquota

Parcela a deduzir

= Valor a descontar

Exemplo pratico(2)
Serv. Prest.

(-) INSS (20%)

= Base de cdlculo
Aliquota

Parcela a deduzir

= Valor a descontar

Exemplo pratico(3)
Aluguel recebido
(-) Desc padrao

= Base de célculo
Aliguota

Parcela a deduzir

= Valor a descontar
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Exemplo pratico
Aluguel recebido
(-) Dependente

(-) Condominio

= Base de cdlculo
Aliquota 22,5
Parcela a deduzir

= Valor a descontar

Exemplo pratico(2)
Serv. Prest.

(-) INSS (20%)

= Base de cdlculo
Aliguota 22,5
Parcela a deduzir

= Valor a descontar

Exemplo pratico(3)
Aluguel recebido
(-) Desc padrao

= Base de célculo
Aliguota 22,5
Parcela a deduzir

= Valor a descontar

RS 5.000,00
RS 189,59
RS 700,00
RS 4.110,41
RS 924,84
RS 651,73

RS 273,11

RS 5.000,00
RS 1.000,00
RS 4.000,00
RS 900,00
RS 651,73

RS 248,27

R$ 5.000,00
R$ 528,00
RS 4.472,00
RS 1.006,20
RS 651,73

RS 354,47



